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 �� ��
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 ��
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�%�2<
=
 �%�2<
=
 �%�2<
=
 �%�2<
=


1�:�� B
�����	 629 ± 27 2 472 ± 141 2 159 ± 10 3 836 ± 17
����A����	 1 320 ± 20 3 782 ± 141

1:0" B
�����	 3 397 ± 392 10 882 ± 701 13 132 ± 450 19 417 ± 543
����A����	 5 598 ± 277 14 048 ± 317

	������ 
�� �A��
 �� 
�� �	���� ��� 
�� �	�99��� �� 
�� �B
	��
��� �� ����

�	�� 
�� �	(�
���H ����� 
�� ����
 ��
9�
 �� ��	( ��� ��	 �����	����
� ��
���

�	�99��� ��� ��
���
 �	����1 �
 �� �����	 �� ��( �� 
���� 
�� �� ���� ��� ������

�� 4�
� �	� ����* 8� ����
���1 �
 �� �99�	��
 
��
 
�� ����
 ��
9�
 �����	�� ��
��	����
�� 9���
��� �� �����E���
�( �����	 
��� �� ��	
���� 9���
���* $��� �� ���
�(
� �����J����� �� 
�� ���	
�	 ���	��� ���
���� 4�
���� 9��
�� �������� 9���

��� ')$ ��� 
� ����� ���� 9��
��� �	� �4��	4�� 4���	� �		����� �
 
�� �B�

��	����* $��� �� ���� ��99�	
�� 4( 
�� ���
 
��
 
�� �A��
 �� ��	� 9	��������
��	 
�� ��G�' �	(�
�� ����� �4��	9
��� ����
� �� �����E���
�( ������	 
��� 
��

�� �G/=*

#�.�� �� ����
�� 1��� 
� )����� ����

$�	 
 (���� ����
��

/�����
�� ��� �����	�� ����
 (���� �9��
	� �	� ���9�	�� �� &���* "*-3� ��� "*-34
��	 � $�>�� �	�99�� ��G�' �	(�
�� ��
� ��� ��
���
 �	����* $� ���� 
�� ���2

+"



"*,* )����	����
� �� ��G�' ��� �G/= ���9���

200 400 600 800 1000 1200
0

100

200

300

400

500

600

 

 

co
un

ts

channel position

 measured
 simulated

���

200 400 600 800 1000 1200
0

100

200

300

400

500

600

700

800

 

 

co
un

ts

channel position

 measured
 simulated

���

������ ��
�	 �	)�����	� *��/��� ��)������ ��� )������� ����� ����� �������

	� ��8%�� '�( ������+ '*( �	 �������

9�	���� 9����4��1 
�� ������
�� �9��
	�� ��� ������ �� 
�� 9���
��� �� 
�� 9��
�
9��� ��� �
� �����
 ��� ��	������� 
� 
��
 �� 
�� @��9
�� ���� �� 
�� �����	��
����
 (���� �9��
	��*

@���	�(1 
�� ����	�� ���9� �� 
�� ��	�� ��� 
�� 	���
��� 9���
���� �� @��92

�� ���� ��� 9��
�9��� �	� ���� 	�9	������ 4( 
�� ������
����I 
�� ��A�	��

�99��	���� �� 
�� ������
�� ��� �����	�� �9��
	� �
 ����	 ������� 9���
���� ��
� �����J����� �� 
�� ���
 
��
 4������

�	 �� γ29��
��� ����� ��
 4� ������
��*
$�� 4�

�	 ���	�( 	�����
��� �� 
�� ������
�� 9��
�9��� �� � �����J����� ��

�� ���
 
��
 �� 
�� ������
����1 ���
��	 
�� ��
	����� ���	�( 	�����
��� Ri �� 
��
����
����
�	  ����� �����
� 
� ≈ 4% &%?) �� 
�� ���� �� ��G�'# ��	 ��(
')$2��9�����
 	�����
��� 9�	���
�	� ���� 4��� 
���� ��
� ������
*

$�	 
 (���� ��� ηL �� ��(�
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�� ������ �� 
�� ������
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 )������� ��� ��)������ ����� ������G �������� /���	��
/��������

���'��	 �	����
�� ��
�'
 1: �
�'��
� 1: '���	��
�
B = 0.1 B = 1.6

1�:�� B
�����	 �� 25 ± 2 30 ± 1 31 ± 1
B
�����	 �
' 100 100 100
����A����	 �� 53 ± 3 54 ± 1 53 ± 1
����A����	 �
' 153 ± 10 149 ± 2 139 ± 1

1:0" B
�����	 �� 31 ± 4 28 ± 1 30 ± 1
B
�����	 �
' 100 100 100
����A����	 �� 51 ± 4 47 ± 1 48 ± 1
����A����	 �
' 129 ± 9 132 ± 1 128 ± 1
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��� �� 9	�4�4�( � �����J����� �� 
�� �����	 	�>��
���
( �� $�>�� �� 
�� ��������
��������
� 	���� �� �G/= ���9�	�� 
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��
 �� ��G�'*
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�� ���	 �	)�����	� 	
 )������� ��� ��)������ ����� ������G �������� /���

�=	� /�������� 
�� ���� �	��)� ��������� ��� ��
�����2� ����� 	

��� ����� 	
 )������� *��/��� ������� ��� /��������

���'��	 �	����
�� ��
�'
 1: �
�'��
� 1: '���	��
� ngap

B = 0.1 B = 1.6

1�:�� B
�����	 �� 87 ± 5 53 ± 1 58 ± 1 1 ����!
72 ± 1 76 ± 1 1.35
50 ± 1 49 ± 1 �� ��%

B
�����	 �
' 155 ± 9 117 ± 1 124 ± 1 1 ����!
113 ± 1 110 ± 1 1.35
81 ± 1 79 ± 1 �� ��%

1:0" B
�����	 �� 121 ± 9 55 ± 1 61 ± 1 1 ����!
98 ± 1 97 ± 1 1.35
97 ± 1 96 ± 1 �� ��%

B
�����	 �
' 178 ± 13 121 ± 1 123 ± 1 1 ����!
136 ± 1 133 ± 1 1.35
144 ± 2 138 ± 1 �� ��%

0��������� ��
 2 × 2 × 10 ��3 $�9�. ��� $9�8 ��(�
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���1 
�� 	����
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�G/= �	(�
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� 
�� ������ 
��
 ����� 4� �B2
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�� �	�� ������
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�	 "* ����
 9	�9���
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����
�	�

��
�� ���	 �	)�����	� 	
 )������� ��� ��)������ ����� ������ 
	� 2 × 2 × 10
))3 ��8%� ��������� %�� )������)���� /��� ���
	�)�� /��� ���
�������� �� 2������� �����)����

C��%%��� ��
�'
 ��� *��� ��� ���� 1: '���	��
� 1: '���	��
� ngap

B = 0.1 B = 1.6

�� �� 24 ± 1 30 ± 2 31 ± 1 31 ± 1

�
' 100 100 100 100

�
' �� 79 ± 9 86 ± 6 53 ± 1 58 ± 1 1 ����!
71 ± 1 72 ± 1 1.35

�
' 136 ± 6 156 ± 8 119 ± 1 123 ± 1 1 ����!
114 ± 9 109 ± 1 1.35

��
�� ����	 �	)�����	� 	
 )������� ��� ��)������ ����� ������ 
	� 2 × 2 × 10
))3 �8!� ��������� %�� )������)���� /��� ���
	�)�� /��� ���
�������� �� 2������� �����)����

C��%%��� ��
�'
 ��� *��+ ��� *��8 1: '���	��
� 1: '���	��
� ngap

B = 0.1 B = 1.6

�� �� 29 ± 1 31 28 ± 1 29 ± 1

�
' 100 100 100 100

�
' �� 112 ± 5 98 54 ± 1 60 ± 1 1 ����!
93 ± 1 92 ± 1 1.35

�
' 170 ± 5 163 120 ± 1 122 ± 1 1 ����!
130 ± 1 125 ± 1 1.35
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� �
�
��
���� �		�	� 4���� �� 
�� �����	����
�*

$�� ��� ������ �� LYabs 9�	��
 � ��� ��
���
��� �� 
�� 9	����
 S ·Q ����	����

++



@��9
�	 "* ����
 9	�9���
��� �� ���	����� ����
����
�	�

��
�� ����	 %*�	���� ����� ������ 	
 )������� ��8%� ��� �8!� ��)����� 
��
�2����� 2���� 	
 �8!� �� �����)���� 	��� *� �8!� 1>?A ��� 1>>H�

���'��	 LY ηL LYabs �%�2<
=

�%�2<
=
 B = 0.1 B = 1.6 B = 0.1 B = 1.6

1�:�� *��7 2 472 ± 141 0.1546 0.2032 15 991 ± 1033 12 164 ± 775
*��� 2 941 ± 44 0.1443 0.1961 20 385 ± 472 15 001 ± 330
���� 2 690 ± 30 0.1443 0.1961 18 646 ± 361 13 721 ± 250

1:0" *��. 10 882 ± 701 0.2226 0.2636 48 879 ± 3455 41 290 ± 2897
*��+ 10 660 ± 302 0.2172 0.2608 49 079 ± 1715 40 881 ± 1403
*��8 7 665 0.2172 0.2608 35 290 29 394

������� ��	�
 18341 ± 1605 13629± 1084
������� �	�� 48979 ± 2798 41086± 2421


� �J* -*!31 ����� �� 	�9��
�� ��	� ��	 ����������� 	������H

LYabsV9�M)�CW =
SQ

Neh
=

SQ

bEG[MeV]
 "*-3#

Neh = 1/bEG ����� 
�� ���4�	 �� �2� 9��	� �	��
�� 9�	 )�C ����	���� 
�
�J* -*"* ;���	����
��� �J* "*-3 (�����

S · Q =
LYabs

Neh
 "*-!#

$�� 	����
� �	� ����� �� $�4�� "*!- ��	 B = 0.1 ��� B = 1.6* �� 4���	�1
���( ��G/= !+"R ��� !++0 �	� �������	�� �� 
�� ���	��� ����� ��	 �G/=* $��

��
�� ���
	 S · Q 	
 ��8%� ��� �8!��
���'��	 Neh S · Q S · Q

B = 0.1 B = 1.6

1�:�� *��7 ## ##. 0.288 ± 0.019 0.219 ± 0.014
*��� 0.367 ± 0.008 0.270 ± 0.006
���� 0.336 ± 0.006 0.247 ± 0.005

1:0" *��. .� ��� 0.704 ± 0.050 0.595 ± 0.042
*��+ 0.707 ± 0.025 0.589 ± 0.020
*��8 0.508 0.423

������� ��	�
 0.330± 0.029 0.245± 0.020
������� �	�� 0.705± 0.041 0.592± 0.035

��
���
�� ���4�	� �� �2� 9��	� Neh 9�	 )�C ��	� 
���� �	�� V."W*

� ���9�	���� ��
� 9	�������( 9�4������ ������ �� LYabs  $�4�� "*!.# ����� 
��


�� �4����
� ����
 (���� �� ��G�' ��� �G/= ��� 4( ��	 ����	��
���
�� �� 9	�2
����� 9�4����
����I 
��� ��������
� 
�� ��9�	
���� �� )��
�2@�	�� ������
����
�� 
�� ��
�	����
��� �� LYabs*
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"*0* @����������

��
�� ����	 ���2�	���� ��*������ 2����� 	
 LYabs 	
 ��8%� ��� �8!��

���'��	 LYabs �%�2<
=
 �
&
�
��


1�:�� 8 530 �78

7 400 ��


1:0" 33 800 �7#

< 30 000 �7.

29 000 �7+


!�1 �����'�����

8� 
��� ���9
�	1 
�� 4���� 9	�9�	
��� �� 
�� 9	�9���
��� �� ����
 �� ����
����
���
�	(�
��� ���� 4��� 	������� ��� 
���	 ��9��
 �� ��G�' ��� �G/= �	(�
���
��
� ����� ��9��
 	�
�� �
�����*

$�� >��	�����
 9	�9�	
��� �� 
�� ����
����
�	� ��	� ��
�	����� 4( ����� �� 
���	
�������� ��� �B��
�
��� �9��
	�* $�� �������� ��	��� �� ��G�' ��� 4� E

��
4( � ��� �� 
�� ��������� ��
� λmax U .", �� ��� .0, ��1 	��9��
����(* $��
�G/= �������� �9��
	�� �99��	� 
� 4� ���9���� �� ���	 �������� 9���� �
 λmax

U .+3 ��1 "-, ��1 "03 ��1 ��� ,33 �� ����� �	� ��� 
� 
�� 	����
��� �	��

�� @�1 ��� @�2 ��
��* 8� ����
���1 
��	� ��� � 9������	 ����
 �� 
�� ��B����
�� 
�� ��	�� �4��	��� ��	 ��A�	��
 �B��
�
��� ��������
�� λex ����� �� 9����4�(
��� 
� 
�� 9	������ �� � ���
�	4�� @�1 ��
�*

�

����
��� ����
�� λatt ��� 	��	��
��� ������� n �� ��G�' ��� �G/= ��	�
��	���� �	�� 
	���������� �����	����
� �4
����� ����� 
�� �����	 ��� ���	
�	
�B�� �� 
�� ����
����
�	�* $�� 	����
� ���� 
��
 λatt �� ��	��	 ��	 �G/= 
���
��	 ��G�' �� 
�� ��������
� 	���� �� ��������* &�	 nLuY AP ��� nLY SO1 
��
��������
� ��9������� ��� E

�� 4( � /�������	 9�	���
	���
���*

$�� ������
���� �� ��G�' ��� �G/= �	(�
��� ���� 
��
 
�� ����
 ������
���
�<�����( ηL ���	����� �
	����( ��
� 
�� �����
 �� ���

�	��� �� 
�� �	(�
��
4���* $��� ��� �� ��9�	
��
 �����J�����H �� ��	 � ����� ����
����
�	 
�� 9	�4�2
4���
( �� 9��
�� ���

�	��� ��� 4� ���	����� ��
���
 ��
�	��	�
��� 
�� �4��	9
���
���	��
�	��
��� �
 
�� ���� 
���1 
�� ����
����
�	 ���� �B��4�
 � �����	 ����
 ��
2
9�
* $��� �� �4��	��� �*�* ��	 '%=1 ���	� � �����	 ����
 ��
9�
 �� �4��	���
��	 @������ �	(�
��� ���9�
� �� � �����E���
�( ���	
�	 λatt 	���
��� 
� ;������
�	(�
��� V"3W*

=
��	 ��9�	
��
 ���
�	� 
��
 �
	����( ��>����� ηL �	� 
�� 	��	��
��� ����B
ngrease �� 
�� �9
���� ���9��	 4�
���� �	(�
�� ��� ')$ ��
	( ������1 ���

�� �	�99���* &�	 
�� �9
���� ���9����1 �
 �� ����� 
��
 ηL ��	��� �
	����(
��
� ngrease ���( ��	 ngrease < nPMT ����� �
 	������ �����
 ����
��
 ��	
ngrease ≤ nPMT *

�� ��9��
�� �� &��* "*!,1 
�� ��9������� �� ηL �� 
�� 
(9� �� �	�99��� ��
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@��9
�	 "* ����
 9	�9���
��� �� ���	����� ����
����
�	�

	���
����( �����* ��A����� �	�99���� 9�	��	� �� ����	�� �����
�( 4�

�	 
���
�9�����	 	�>��
�	�1 ��9������( �� 
�� �	(�
�� �� ��
 �9
�����( ���9��� 
� 
�� ')$
��� �� 
�� �	�99��� �� ������
�� 
� 
�� �	(�
�� ���� 4( � 
	���9�	��
 $�>��
��(�	* � ��A�	��
 4�������	1 ������	1 �� �4��	��� �� 
�� ������	 ���
	�4�
���� ��

�� 9��
��� ����� �		��� �
 ����
 ���� �
 
�� �B�
 ��	���� �	� ���9�	�� ��	 ���2
��	��
 �	�99����  &��* "*!7#* ?�	�1 �
 ��� 4� ����	�( ���� 
��
 �9�����	 	�>��
�	�
��
� � ���� 	�>��
���
( �	� ���� ��	� �<����
 �� 
	���9�	
��� 9��
��� 
� 
��
�B�
 ��	���� 
��� ��A����� �	�99����* $���� 9��
� ���� ���� 
��
 � �����E���

�	��
��� �� 9��
��� ����� �		��� �
 
�� �B�
 ��	���� �����
 4� �B
	��
�� ���

� 
�
�� ��
�	��� 	�>��
���* =4������(1 
�� ����
 ��
9�
 ����� 4� �����E���
�(
��9	����1 �� �
 ����
 � �	��
��� �� 
���� 9��
��� ����� 4� �B
	��
��*

� ���9�	���� �� 
�� ������
�� ��
� �B9�	����
�� ��
� ����� 
��
 
�� �B9�	2
����
�� ��
� �	� ���� 	�9	����
�� 4( 
�� ������
���� �� �� �	�99��� �� ����*
?�����	1 �� 
�� ���� �� �	�99�� �	(�
���1 
�� ����� �� ηL 9	����
�� 4( 
��
������
���� �� ����	 
��� �4��	��� �� 
�� �����	����
�I �99�	��
�(1 
��	� �	�
����
����� �A��
�1 �� �*�* � �����
 ���9� �����
��1 
��
 ���� 
� �� ��9	������

�� 
�� ����
 (���� �� 
�� �B9�	����
�� �(�
�� 	���
��� 
� 
�� ��������� ����� ����
�� 
�� ������
����* � 9	����� ��
�	����
��� �� 
�� ���

�	���2
�2�4��	9
��� 	�
��
B �� ��
 9����4��I ������	1 
�� �B9�	����
�� ������ ������
� �
 ����
 
��
 B ��
	���
����( ����� ��	 ��G�' ��� ��	��	 ��	 �G/=*

5( ���4����� 
�� �����	�� ����
 ��
9�
� ��
� ηL1 �4����
� ����
 (����� LYabs ��	
�G/= ��� ��G�' ���� 4��� ��
�	����� ��	 ��A�	��
 ������ �� B* &�	 ��G�'1
LYabs �� ����� 
� 4� 18 341 ± 1605 9�M)�C ��	 B = 0.1 ��� 13 629 ± 1084 ��	
B = 1.6I ��	 �G/=1 LYabs U 48 979±2798 9�M)�C ��	 B = 0.1 ��� 41 086±2421
��	 B = 1.6* � ���9�	���� ��
� 9�4������ ������ ����� 
��
 LYabs �� �����E2
���
�( �����	 
��� 9	�������( 	�9�	
��* ����	�����(1 
�� ������ �� S ·Q �	� ����
�����	 
��� 9	�������( 9�4������H ��	 ��G�'1 S ·Q U 0.330± 0.029 ��	 B = 0.1
��� 0.245± 0.020 ��	 B = 1.6I ��	 �G/=1 S ·Q U 0.705± 0.041 ��	 B = 0.1 ���
0.592±0.035 ��	 B = 1.6* 5�
� 	����
� ��������
 
�� ��9�	
���� �� )��
�2@�	��
������
���� �� 
�� ���������
 �� 
���� ������* �� Q �� ������( ≈ 11 �
 �
��� �����

��
 
�� �<�����( �� 
�� 
	�����	 �� 
�� e− h 9��	� 
� 
�� ������������ ���
�	�
�� 9��	 ��	 ��G�'*
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V!W %* %* )����1 /* �* ��	����1 �* &(���	��1 )* 6�	����1 �* ��
���1 �*
)�����1 C* �������1 ����=3H@� 2 � ���� �����
(1 ���� �9��� ����
����
�	
��	 ����� ��
��
���* 8��� $	���* ����* /��* "-1 -0,  !++,#

V-W �* ���9����1 )* ?* ;������1 �* %���������1 )* 5����	�(�1 @* 5	����	1 �* O*
%�K
�����1 ����=3H@� ��� �
��	 �������
� ����
����
�	�* 8��� $	���* ����*
/��* "-1 -73  !++,#

V.W )* )���(����1 )* 6�9��
�1 )* )�(����1 �* %�����1 /* =* &�(��
1 �4����
�
����
 ��
9�
 �� ����
����
�	�* 8��� $	���* ����* /��* ""1 !3,-  !++0#

V"W %* �	��������1 �* O* %�K
�����1 $* �����������1 O* 6����������1 /���
��2
��
��� 9	�9�	
��� �� ���' ��� ��G�' �	(�
��� ��
���
�� ��
� @�	��� ���
)��(4�����* ����* 8��
	* )�
�* � ,R-1 -,"  -33R#

V,W @* ��K�	���1 @* '��	���1 %* 5����1 O* @* �����1 O* @* ���L
 /9�K��	1 =* %*
C* &	�K��1 @* %* �* ��� ��K�1 '* ��	��4��1 ;* @���1 �* &	����
1 &* $������1
/* $���	���	1 '* 5	�(������B1 �* �* '�
	��(��1 $�� �
��( �� ����� ��� ��	��
���� ����=3H@�3+* 8��� ����* /��* /(�9* !++01 !0"  !++7#

VRW �* /(�����1 C* $�	����1 = 
�������(�1 @��9�	���� �� 
�� ��
���� ��	 ��2

�	����
��� �� ����
����
��� ����
 (����* ����* 8��
	* )�
�* � "7R1 R0  -33-#

V0W O* �* )�	��1 )* ����1 �* /��������1 @* �L��4	����1 &* �� ��
�	��
�����1 6*
5�����1 '* )��(1 6* ��K������41 '* &�4���1 �* '* '����1 O* $* )* �� ?���1
@* %* �* ��� ��K�1 '* ��	��4��1 /���
����
��� ��� �9��
	����9�� 9	�9�	
���
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����
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�
'��
�����
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/��* /(�9* !1 7-"  !++0#

V+W O* 5��1 �* �����1 �* )* ��	���2;�<1 O* ;���1 5* ;�4��1 O* �* $���1 /�����2

��� �� ����
 ������
��� �� ����
����
�	� ��
� 	���� ��	�����* ����* 8��
	* )�
�*
� .,31 !7"  !++"#
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�
1 ������
��� �� ����
 ������
��� �� 
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�
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��� ��
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$�� ��������� �� 
�� �	����� ��� 9�	��	��� ��
� � ������� ���� ����
��
��
� � ���
�� �������� ������� 4���� �� 
�� �����	�����( ������4�� ��

�	
��5 ,3.3* � ���
�� �� 
�� ��
�9 �� ����� �� &��* ,*!-* $�� 9	�9�	
��� ��
������� ���� ��� 
�� ��5 ,3.3 �	� ����� �� $�4�� ,*!*

������ ���
	 !���� ���� 
	� ��		2� ��������

��
�� ���	 ��	������� 	
 ��� ���)	�� ���5 ��� ��� �43 -.0. ���� 
	� ��		2�

�*������	��


������ ����

������
� $
��� ����%
<��
���	 /���A
 ; ������	 ������� %�C�
�
,���
�
� *�# ��
-���� '�A
 #� μ�
-���� ����� ���� �·��−3

���	
 �& /
B
	' �� ��') 
��
6 45◦
������� 
��
 �����'6 ≈ �� μ�

��� ����

���������	 B
	����� vrot 0 ≤ vrot ≤ 6000 �%�
�

� f 0 ≤ f ≤ 100 ��·���−1

��'������	 �
%������/�	��� ≤ 5 μ�

0�

��	 
��
� ��
 	���� �������

5���	� 9	�
�
(9� 9	����
���1 � 
��
 ��	��� ��� 9�	��	��� �� �
����	� ������
9��� >��
2
(9� ����� ���9��� 
� �9
����� 
�� �	���� ��

��� 9�	���
�	� ��	
9	�������� 
�� ����
����
�	�* $�� J����
( �� 
�� �	����� ��� �������� 4( ������
���9��
��� ��
� � ���	����9� �
 ��� �����E��
���  50×#* &�	 
�� ���9���1 ����2

����� 	�������� �����	����
� ��	� 9�	��	��� 4( ����� �� ����	 ��
�	��	���
	(*
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,*.* )����	����
� �� ��G�' ��� �G/= ���9���

$�4�� ,*- ����� 
�� 	����
� �� 
�� 	�������� �����	����
�* $�� 	��������
Ra ��		��9���� 
� 
�� 	�� �� 
�� �	���� 9	�E��* $(9�����(1 Ra ��� ����� 
�
4� �� 
�� 	���� �� ! 2 - μ�* $�� 	���
����( ���� ����� �4
����� ��	 �	���� ^-

��
�� ��
	 "	������� Ra 	
 ��� ���� ��		2���

0��%	
 -���B
 �B
���
 ������
''
Ra �μ�


	��
��	 %���		
	

� G* *��.# ��#�#
G� ��7* *�*7
G7 ��8� *�*7#

# G* *�.*# *���#
G� *�#8 *���
G7 *�8## *���#

�� ���9�� " 	����
� �	�� � �����
��� �� 
�� ��
�	�� �	���� 9	�E�� �	�� 9����	�
(
����� ������ 
�� �99�	 ���� �� 
�� �	���� 
� 4� , 2 !3 μ� �4��� 
�� ���	���
�����I 
�� 	��� 	�������� �� 
�� �	���� �� 
��	���	� �B9��
�� 
� 4� �������	2
�4�( ������	* �� �����	����
� �� 
�� �	���� ��9
�� ��� ���
�� ������1 
��
9	������ �	����� �	� �����
�( ��	��	 
��� �B9��
�� �	�� 
�� ��

��� 9�	���
�	�
�����* $��� �� ���
�( ��� 
� ��99�����
�	( �4	����� �	�� ����� �	���� �� ���2
9�� ��
�	��� 9	������ ��	��� 
�� ��

��� 9	�����I ������	1 ��4	�
���� ��� �����

�����
	���
��� �� 
�� ���� ��� 
�� ����
 ��( ���� 9��( � 	���*

;������
��� �� $�9�. ��� $9�8 ���
�
(���

$�� ��

��� �� 
�� ��G�' ��� �G/= 9	�
�
(9�� ��� 9�	��	��� 4( ������� 
��
���9��� ��
� � ����� �����	 ��
� ��� �� 
�� ������	 ��	����� 9���
��� �9��	��*
5���� �� 
�� 	����
� �	�� 
�� 
��
 ���9���1 � ���� f = 20 ��M��� ��� � 	�
�2

����� ���� ������
( vrot = 3000 	9� ��� ���� �� 
�� ��

��� 9	�����* $�4�� ,*.
���
� 4���� ��
� �� ����	�� �	(�
�� 4�
���� ��	 ����� �	����� ���� �������� ��
�

��
�� ���	 ��	������� 	
 �������� 
	� ��		2� 
�*������	��

4���� ���
 �& ����B
 ���'��	 %�����
� '�A
 dgroove ���/
� �&
%��������� ���3
 ���
 ����B
'

* H�� �+ 1�:�� *��� �<1 2 × 2 × 8 ��# *
1:0" *��# �<1 2 × 2 × 8 ��# *

� "�� �+ 1�:�� *�+� �<1 2 × 2 × 10 ��7 *;*
1�:�� *�8� �<1 2 × 2 × 10 ��7 *;*
1:0" *�8* �<1 2 × 2 × 10 ��7 *;*
1:0" *�8� �<1 2 × 2 × 10 ��7 *;*

7 ,
� �+ 1�:�� *��� �<1 2 × 2 × 10 ��7 *
1�:�� ���� �<1 2 × 2 × 10 ��7 *;*
1:0" *��+ �<1 2 × 2 × 10 ��7 *
1:0" *��8 �<1 2 × 2 × 10 ��7 *;*


�� �B�
 ��	�����* $�� ��9
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100 μm
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 ��		2��� '�(G ��8%� 1>D. '*(G �8!� 1>D��

��*

)��	����9�� ������ �� �	����� �� 
�� �	(�
���  ��G�' !+73 ��� �G/= !+7-#
�	� ����� �� &���* ,*!.� ��� ,*!.4* $���� ������ ���� 
��
 ���9�
� 
�� �9
�2
����
��� �� 
�� ��

��� 9�	���
�	�1 
�� �	���� ����� �	� �
��� 	���
����( 	����
��� �B��4�
 �����E���
 ���99���*
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)��
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)�� ���


$�� ����
 (����  �G# �����	����
� ��	� 9�	��	��� �� �� �������� �����	 ��

�� �����	����
� ����	�4�� �� @��9
�	 "* $�� �G �� ���� ���9�� ��� ��
�	2
����� 4���	� ��� ��
�	 ��

��� 
� ������ 
�� ������ �� �G ������� 4( 
�� �	����*
8� ���� ����1 
�� �����	����
� ��	� �4
����� ����	 ��A�	��
 ��
�9 ���E��	�2

����  �	���� M �� �	����1 �	�99��� M �� �	�99���#* $� ����� �(�
���
�� �		�	�
�	�����
��� �	�� >��
��
���� �� 
�� ')$ �����
���
(1 
�� �����	�� �G ��� ��	2
������� 
� 
�� �G �� ��� �� 
�� 	���	���� �	(�
���  ��G�' !+". ��� ��G�'
!3+7# �����	�� �� 9�	�����* &�	 �	(�
��� ���	� � ������ �	���� ��� ��������
9�	9��������	 
� 
�� E	�
 �	���� ��
� 
�� �B�
 ��	����1 �����	����
� ��	� 9�	2
��	��� ��
�	 ���� 9	����
��� �
�9 
� ������ 
�� �A��
 �� 
�� ������ �	���� ��

�� �G*

.���� 
�
�)

���

$�4��� ,*" ��� ,*, ���9�	� 
�� ������ �� �G ��
�	 ���� 9	�����	�� �
�9 �� 9�	2
���
��� �� 
�� �G �����	�� 4���	� 
�� ��������� �� 
�� �	�����* @���	�(1 ��
���	���� �� 
�� �G1 �� �B9��
�� �	�� 
�� ������
����1 �� ������ ��
��
�4�� ��	

�� ��K�	�
( �� ���9���* $��� �� ��9������( ������
 ��	 �����	����
� ��
���

�	�99��� ��� �9
���� ���9���� ���	� �� ���	���� �� ����	�� 
��� �� 9�	���
 ���
4� �4��	��� ��
�	 ���� 9	�������� �
�9* 8� ����	��1 
�� ���	���� �� �G �� ��	�
9	�������� �� ���E��	�
���� ���	� �� �9
���� ���9���� �� ����I ��
� �9
����
���9����1 
�� �G ���	���� �� ��
��	 ���� �	 ���� 	���	���* �� �����E���
 ��A�	2
����� ��� 4� ���� 4�
���� 
�� 2×2×8 ��3 �	(�
��� ��
� 3*, �� ���9 �	�����
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,*.* )����	����
� �� ��G�' ��� �G/= ���9���

��
�� ���	 �8 	
 ��� �������� /��� )���	)������� ���� ���
��� ������2� �	 � �����
���� ���
���� ����G �	 /�������� 
�� ��)������ 2����� �	�����	��
�	 ��� ���� B = 1.6�

0��%	
 �� ��
�'
 ��
�'

* ����B
 *;* ����B
 * ����B
 *;* ����B

�3
 �3
 �3
 �3


'���	����� 1�:�� 172 238 122 134
1:0" 202 326 128 139


(%
���
�� 1�:�� *��� 151 ± 5 97 ± 3
1�:�� ���� 136 ± 9 168 ± 19 107 ± 4 105 ± 2

1:0" *��+ 128 ± 5 96 ± 5
1:0" *��8 142 ± 7 165 ± 6 100 ± 6 118 ± 6

������� ��	�
 143 ± 7 168 ± 19 102 ± 3 105 ± 2

������� �	�� 135 ± 6 165 ± 6 98 ± 4 118 ± 6

��
�� ���	 �8 	
 ��� �������� /��� )���	)������� ���� ���
��� ������2� �	 � �����
���� ���
���� ����G 
�=	� /�������� 
�� ��)������ 2����� �	�����	��
�	 ��� ���� B = 1.6�

0��%	
 �� ��
�'
 ��
�'

* ����B
 *;* ����B
 * ����B
 *;* ����B

�3
 �3
 �3
 �3


'���	����� 1�:�� 138 175 124 133
1:0" 169 227 136 145


(%
���
�� 1�:�� *��� 106 ± 7
1�:�� *�+� 100 ± 8 115 ± 3 103 ± 3 103 ± 3
1�:�� *�8� 111 ± 6 121 ± 6 110 ± 6 106 ± 6
1�:�� *��� 111 ± 12 109 ± 5
1�:�� ���� 110 ± 8 107 ± 9 104 ± 7 100 ± 5

1:0" *��# 105 ± 4
1:0" *�8* 102 ± 11 105 ± 8 98 ± 3 94 ± 6
1:0" *�8� 108 ± 6 121 ± 6 110 ± 6 106 ± 6
1:0" *��+ 108 ± 10 101 ± 5
1:0" *��8 136 ± 5 139 ± 8 112 ± 7 117 ± 7

������� ��	�
 108 ± 9 114 ± 6 107 ± 6 103 ± 5

������� �	�� 114 ± 7 117 ± 7 104 ± 5 102 ± 6
������� �	�� ���� 106 ± 8 106 ± 7 102 ± 4 94 ± 5

!-!



@��9
�	 ,* /���
����
�	� ��
� ���	��������� �B�
 ��	�����

��� 
�� 2×2×10 ��3 �	(�
��� ��
� 3*. �� ���9 �	�����* %�
� �	�99���1 
��
����
��� �� � ������ �	���� ������( ���� ��
 ���� � 9���
��� �A��
 �� 
�� �G
4�
 ����� 
� � ��
�	��	�
��� �� 
�� ��K�	�
( �� �����* � ��
�4�� �B��9
��� �� 
��
�G/= �	(�
�� @@@ !++7 ����� ����� � �������	�4�� ���	���� �� 
�� �G 4�
�
��
� ��� ��
���
 �9
���� ���9����I ������	1 
��� �	(�
�� ��� ��
 ����� 
� 4�
	�9	����
�
��� �� �
� �G �� ���� ����	 
��� 
��
 �� 
�� 	�������� �G/= ���9���*

@��9�	��� 
���� 	����
� ��
� 
���� 9	����
�� �� /��
* ,*-*- ��	 
�� ������
����
�� �	(�
��� ��
� �	����� �B�
 ��	���� ����� 
��
 �� 
�� 9	������ 9	�
�
(9��
���� ���� ����
 �� �B
	��
�� 
��� 9	����
�� 4( 
�� ������
����* $��� �� ����
����	�( ���� �� &���* ,*!" ��� ,*!, ����� ���9�	� 
�� ���	��� �G� 9�	 �	(�
��
��� ��
�9 ���E��	�
��� ��
� ������
��� 	����
� �� �J�������
 �(�
���I �99�	2
��
�(1 
�� ��������� ����� ����� �� ���� �� 
�� ������
���� ���� ��
 	�>��
 ����

�� 	��� 4�������	 �� 
�� ��4	���
�� 9	�
�
(9��*

*�! �
� 3��������	 �����3 �������


�� ��
�� 4���	�1 
��	� �� � �����E���
 ����	�9���( 4�
���� 
�� ������ �� �G
�B9��
�� �	�� 
�� ������
���� ��� 
�� �B9�	����
�� 	����
(* ?�����	1 �
 ���

4� �������	�� 
��
 
�� �	����� �� 
�� ����
����
�	 9	�
�
(9�� ��	� ��
 9�������
��
�	 ��4	���
��� 4�
 �
��� �� 
�� 	���� ��
 �
���I ��	 
��� 	�����1 
���	 �A��
 ��
ηL ��1 �� �B9��
��1 �����E���
�( ��A�	��
 �	�� 
��
 �� 
�� ��������� �	����� ��

�� ������
����* $��� �� 9�	
�( ��� 
� 
�� �	���� ��	���� �� 
�� �	����� ���

�� ��	�� �����
 �� ���99��� �
 
�� �	���� �����* ?�����	1 � ��K�	 ��>�����
����� �	�� 
�� ���
 
��
 
�� ��

��� 9	����� ��
 ���( �A��
� 
�� �	���� ��	����
4�
 ���� 
�� ��(�	� �� 
�� �������
��( ������
( �� 
�� �	���� ��� 
� 
�� ��	���
�99���� ��	��� �	���� ��4	���
���* �� � �����J�����1 
�� �	(�
�� ��

��� ���� 4�
����	�( ���
�	
�� �� 
���� �	��� ��� 
�� ���

�	��� ��� �4��	9
��� ����
�� �	�
�����( 
� 4� ����	��	 ���9�	�� 
� 
�� 	��
 �� 
�� 4���* 8� ����
���1 
��	� �� �
���

�� ���B9������ �B���� �� �G ����� �� �4��	��� ��	 �	�99�� �	(�
��� ��� �����
9	�4�4�( ���� ������
� ��	 
�� ��A�	���� 4�
���� ������
��� ��� �B9�	����

 ��* /��
��� "*,*-#*

.�#�� $� )������

$�� �����	����
� �� ���	�99�� ��G�' ��� �G/= ���9��� 9	����
�� �� $�2
4�� ,*" �A�	 � 9����4���
( 
� 
��
 � ��	� �������� ����� 
��
 �99	�B���
�� 
��
�4��	��� 9	�9�	
��� �� 
�� �	����� �	(�
���* $��� ����� 	����4��� 
�� ���������
�����  &��* ,*-�# �� �
� ����	�� ��
���� 4�
 ��A�	� �	�� �
 4( 
�� ��
	����
��� ��

��� ��(�	� �� �	(�
������ ��
�	��� ��
� ���� �����	 �4��	9
��� ��� ���

�	���
	�
�� 4�
���� 
�� �	����� ��� 
�� ���9�� ��E���� 
�� �	(�
�� 4���  &��* ,*!R#*
$�� 
�������� �� 
�� ��(�	�  dlayer# ��� ������� 
� 4� ,3 μ�* $� ������
 ��	 
��
	���� ��	���� �� 
�� �	����� �� 
�� �B9�	����
���( 
��
�� ���9���1 � ���

�	���
����
� λscat,layer = dlayer ��� �������* �4��	9
��� ����
�� 4�
���� !3 μ� ���
! �� ��	� ������
��* 8� ��� �����1 
�� ���

�	���2
�2�4��	9
��� 	�
�� B ��� ��


� !*R*

!--



,*"* $�� L�4��	4��� ��(�	L �99	����

100

120

140

160

180

200

220

240

simulation

no wrapping
no grease

 

 

LY
/L

Y
pl

ai
n [%

]

 LuYAP 1999
 LuYAP 2000

no wrapping
grease

simulation

 

 

 LuYAP 1999
 LuYAP 2000

plain 1 groove 1+1 groove

100

120

140

160

180

200

220

240 wrapping
no grease

simulation

 number of grooves

 

 

LY
/L

Y
pl

ai
n [%

]

 LuYAP 1979
 LuYAP 1980
 LuYAP 1999
 LuYAP 2000

plain 1 groove 1+1 groove

wrapping
grease

simulation

 

 

number of grooves

 LuYAP 1942
 LuYAP 1979
 LuYAP 1980
 LuYAP 1999
 LuYAP 2000

������ ����	 �	)�����	� 	
 ������)����� ���� /��� ��� ��)�����	� ������� 	

��� ������C�� ��		2�� 
	� ��8%��

100

150

200

250

300

350

simulation

no wrapping
no grease

 

 

LY
/L

Y
pl

ai
n [%

]

 LYSO 1997
 LYSO 1998

no wrapping
grease

simulation

 

 

 LYSO 1997
 LYSO 1998

plain 1 groove 1+1 groove

100

150

200

250

300

350

wrapping
no grease

simulation

 number of grooves

 

 

LY
/L

Y
pl

ai
n [%

]

 LYSO 1981
 LYSO 1982
 LYSO 1997
 LYSO 1998

plain 1 groove 1+1 groove

wrapping
grease

simulation

 

 

number of grooves

 LYSO 1945
 LYSO 1981
 LYSO 1982
 LYSO 1997
 LYSO 1998

������ ����	 �	)�����	� 	
 ������)����� ���� /��� ��� ��)�����	� ������� 	

��� ������C�� ��		2�� 
	� �8!��

!-.



@��9
�	 ,* /���
����
�	� ��
� ���	��������� �B�
 ��	�����

dlayer

crystal bulk

grease

PMT

absorbing layers

������ ����	 !5���� 	
 �&
"%#& ����� /��� �*�	�*��� �������

.�#�� 
�
�)

��� �	 ��
)��


$�� 	����
� ��	 ���	�99�� �	(�
��� �	� ����� �� &��* ,*!0* 8
 �� �99�	��
 �	��

0.0 0.2 0.4 0.6 0.8 1.0 1.2
0.0

0.1

0.2

0.3

 

 

η 
L

λ abs,layer

 LuYAP, grease
 LuYAP, no grease
 LYSO, grease
 LYSO, no grease

[mm]

������ ����	 7��������� 	
 ηL 	� λabs,layer 
�	) ��� ��)�����	���


�� E��	� 
��
 
�� 9	������ �� 
�� �4��	4��� ��(�	 �
	����( 	������ ηL �� 
��
��G�' ��� �G/= �	(�
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 ��	2
����� �
 4������ 9����4�� 
� ��
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�� ��
�	���� ��� 
��	���	�1
���( ��<���
 
� 9	����� �����������(* 8� ���
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��
����� 
� � 	����
��� �� ηL*

5�
� 4��� ���

�	��� ��� �	�99��� ���� ��	� ��9��
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 �	� ������
���� 9�	��	��� ��
� 
�� ����
2	�( 
	����� 9	��	�� �8$;��8*
$�� ������
�� ��
�9� ��	� �������� ���� 
��
 
��( 	����4��� 
�� �
����	�
�B9�	����
�� ��
�9� ���� 
� ��
�	���� 
�� ����
 ��
9�
 �� 
�� ����
����
�	� ��
������( �� 9����4��* $�� >��	�����
 ��� �9
���� 9	�9�	
��� �� ��G�' ��� �G/=
	������
 ��	 
�� ������
��� ��	� ��
�	����� �	�� �����	����
� 9�	��	��� ��
��� ��G�' ��� ��� �G/= ���9�� ��
� ����� �� 2 × 2 × 2 ��3 ����* $��
�������� �9��
	� ��	� �����	�� 4( ����� �� � �9��
	�>��	���
�	 ��� E

��
��
� -  ��G�'# �	 "  �G/=# ��������� 
� ��
�	���� 
�� 	���
��� ��
����
���
��� ���
�� �� 
�� ���������� �������� ���9����
�* �

����
���� ����
�� λatt

��� 	��	��
��� ������� n ��	� ��	���� �	�� 
	���������� �����	����
� �4
�����
����� 
�� �����	 ��� ���	
�	 �B��I �� ����
���1 
�� ��9������� �� nLuY AP ���
nLY SO �� λ ��� �������� 4( � /�������	 9�	���
	���
���*

$�� ������
���� �� ��G�' ��� �G/= �	(�
��� ���� 
��
 
�� ����
 ������
���
�<�����( ηL ��9���� �� ����	�� ���
�	�1 �� 
�� 	��	��
��� ����B ngrease �� 
��
�9
���� ���9��	 4�
���� �	(�
�� ��� ')$ ��
	( ������1 
�� �	�99��� ���� ��
	�>��
�	1 ��� 
�� �����
 �� ���

�	��� �� 
�� �	(�
�� 4���* 8� ����	��1 
�� ����

������
��� �<�����( �� �9
������ ��	 ngrease ≤ nPMT ��� ��	 ��A����� �	�99����
����� �	� �9
�����( ���9��� 
� 
�� �	(�
�� ����* ��9������( ��
�	��
��� �� 
��
 
��
����
 ������
��� �<�����( ���	����� �
	����( ��
� 
�� ���

�	���2
�2�4��	9
��� 	�2

�� �� 
�� �	(�
�� 4���* $��� ��� 
�� ��9�	
��
 �����J����� 
��
 � ����
����
�	
���� �B��4�
 � �����	 ����
 (���� �� 
�� 9	�4�4���
( �� 9��
�� ���

�	��� ��
���

�� 4��� �� ���	����� ��
���
 ��
�	��	�
��� 
�� �4��	9
��� ���	��
�	��
��� �
 
��
���� 
���I 
��� �� �� ��	�����
 ��
� 	����
 �4��	��
���� �� '%= �	(�
��� �	��
��A�	��
 �������
�	�	�* $�� ������
���� ���� 	����� 
��
 � ��	�� �	��
��� �� 
��
9��
��� �		����� �
 
�� �B�
 ��	���� �� ���
 ��� 
� 
�
�� ��
�	��� 	�>��
���I ��	
�9�����	 	�>��
�	� ��
� ���� 	�>��
���
(1 
�� ������ �����
 
� �9 
� 60%* $���
����� 
��
 ���	������ 
�
�� ��
�	��� 	�>��
��� �
 
�� �B�
 ��	���� ����� �
	���
9�
��
��� 
� ���	���� 
�� ����
 (���� �� 
�� ����
����
�	�*

� ���9�	���� �� 
�� ������
�� ��� �B9�	����
�� ��
� ����� 
��
 
�� �B9�	2
����
�� ��
� ��	�� ���� ��
� 
�� ������
���� �� �� �	�99��� �� ����1 4�
 ���2
��	 �����E���
�( �� 
�� ���� �� � �	�99��� ��� 
� ����
����� �A��
�1 �� �*�*
�����
 ���9� �����
����1 
��
 �	� ��
 �������� �� 
�� ������
����* @��4�����

�� �B9�	����
�� ��
� �4
����� ��
���
 �	�99��� ��
� 
�� 	����
� �	�� ��		�2
�9������ ������
���� ����� �
 9����4�� 
� ��
�	���� 
�� �4����
� ����
 (�����
�� ��G�' ��� �G/=1 ����� �����
 
� 10 000 − 20 000 9�M)�C ��	 ��G�'
��� 35 000 − 50 000 9�M)�C ��	 �G/= ��9������ �� 
�� �����
 �� ���

�	���
������� �� 
�� �	(�
���* $���� ������ �	� �����	 
��� 
���� J��
�� �� ��
�	�
�	�
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��� ��������
 
�� ��9�	
���� �� )��
�2@�	�� ������
���� �� 
�� ��
�	����
���
�� 
�� �4����
� ����
 (����*

8� ���9
�	 ,1 �
 �� ����� 4( ����� �� �8$;��8 ������
���� 
��
 ηL ��� 4�
��9	���� 4( ����	�� 
��� �� 9�	���
 4( ��������� �	����� ��
� 
�� �B�
 ��	����
�� 
�� ����
����
�	�* �� �9
������ 9�	��	����� �� ����� ��	 �	����� ��
� ��9
�
d ≈ 0.5 − 0.6 �� ��� �9����� ����� α U ",◦* ηL ��� 4� ��9	���� ��	
��	
�� � ������ �	���� �� �������� 9�	9��������	� 
� 
�� E	�
 ��� ����� ����
�����
�	����� ����	���( �� ��
 ���9 �� ��	
��	 ��9	����� ηL* 5�
� 4��� ���

�	��� ���
�	�99��� ���� ���� ��	� ��9��
 �� ηL 
��� �� 
�� ���� �� � 9���� �B�
 ��	����
�	(�
��1 ��
� ����2	�>��
��� �9�����	 	�>��
�	� ��������� 
�� ������
 ���� �� ηL*

� ���9�	���� ��
� ����
 (���� �����	����
� �� ����	�� 9	�
�
(9� �	(�
��� �����

��
 
�� ��������� ����� �� � 9�	���
�( 9������� �	���� ���� ��
 	�>��
 ���� 
��
�B9�	����
�� 4�������	* 8��
���1 � ���� ��	�����
 �� ����� ��	 � ����� 
��

���
���� � �
	����( �4��	4��� ��� ��A����� ��(�	 K��
 4����
� 
�� �	���� ��	����*
$��� �� ��9�	
��
 �� �
 ������
�� 
��
 
�� 9�	��	����� �� 
�� �	����� �	(�
���
��� 4� ��9	���� 4( ���������� �	 �������� 
	��
���
 ��
�	 ��

��� 4( �����

��� �4��	4��� ��(�	 �� 	������* �� ���( � ��A����� �	�99���  $�>��# ��� ����
�� 
�� �B9�	����
�1 �
 ����� ���� 4� ��
�	��
��� 
� 9�	��	� ����
����� 
��
� �*�*
��
� �9�����	 	�>��
�	� 
� ������
� 
�� ��9����
���� �	�� 
�� ������
����*

$�� E��� ���9
�	 	������ 
�� �9
���� 9	�9�	
��� �� 9��
���� �	(�
��  '�@# ���4�
��� 
���	 ��9��
 �� 
�� ����
 �B
	��
��� �	�� ����� ��
� ���� n* 8
 �� ����� 4(
����� �� ������
���� ��
� � ���

�	���2��
	�B ����	�
�� 
��
 � 9�	����� ���2
���
��� �� 
�� �B�
 ��	���� ������ ��	 �B
	��
��� 9��
��� ��
���� 
�� �B
	��
���
���� �� � 9���� ��	����* @����J���
�(1 � ����
����
�	 ��
� '�@ �B�
 ��	���� ���
� �����	 ηL ���9�	�� 
� � ����
����
�	 ��
� 9���� �B�
 ��	���� ���� 
�� 9��
��
��������
� λ �� �� 
�� 	���� �� 
�� ��

��� ����
��
 a �� 
�� ���4* $�� ���� �� ηL


��
 ��� 4� �������� ��9���� �� 
�� 	�
�� a/λ ��� 
�� �
	��
�	�� 9�	���
�	� ��

�� '�@ ���4 4�
 �� �� ����	�� �����	 ��	 '�@ ���4� ��
� ����2n 4��� ��
�	���*
&�����(1 
�� 9����4�� 9	�9�	
��� �� �� �B9�	����
�� �(�
�� ���� 4��� 	�������*

8
 �� ��9�	
��
 
� ��
� 
��
 
�� 9�
��
��� �� ���	��
	��
�	���
��� ��	 ��9	�����
ηL ��� ���( 4��� ������
�� ��
� ������
���� ����� 	��( �� ��������� ��
�	����
��� ������� ����	�� ���9��E��
����* ?�����	1 � E	�
 ��
 �� 9	�
�
(9�� 2 ������
2
��� �� �G/= �	(�
��� ��
� � '�@ ���4 �
���� ��
� � ��(�	 �� /�� 2 �� ��		��
�(
����	 ��4	���
��� �
 
�� 8��
�
�
� �� ����
��������( �� �(�� ��� �� �B9��
��

� 4� ������4�� 4���	� �����	 -337* 8
 �� �B9��
�� 
��
 
�� 	����
� �	�� 
����
�����	����
 ���� 9	����� ��	� ������
 ��
� 
��� 
�9�� ��� ���9 
� E�� �� �9
�2
����� '�@2����
����
�	 �(�
�� ��	 ��
�	� �99����
����*
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����� ��������
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�� ����
 ��
9�
 �� ����
����
�	 �	(�2

��� ��� 4� ��9	���� 4( �
	��
�	���
��� �� 
�� ���9���� ���� �� 
�� �	(�
���*
$��� �����	 ����
 ��
9�
 ��� 4� ���� 
� ��9	��� 
�� 
����� 9	�9�	
��� �� 
��
����
����
��� ��
��
�	 ��� 
�� ���	�( 	�����
��� RI 
�� ��

�	 ��9������( ������
�

� ����
����
�	� �� ��G�' ���	� 
�� ��K�	 ���
	�4�
��� 
� R ����� �	�� 
��
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�	�* 5�
�1 
�� ��9	���� 
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���	�( 	�����
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�	� ��� 4� ���� �� ��
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����	��� �

���
� !������" ���� 	���" ���

!�������# ��	������

)�� �
� 4���
�5��&'�� �
�����

$�� )�B���� �J��
���� �� � ������ 
��
 ���� ��
 ���
��� ��( �	�� ���	��� �	
��		��
�  �*�* ρ = 01 j = 0# �	� ����� 4(H

∇ ·B = 0 ∇× H =
1
c

∂D
∂t

∇ · D = 0 ∇× E =
1
c

∂B
∂t

 �*!#

$�� ���
�	 E���� B ��� H ���1 	��9��
����(1 D ��� E �	� 	���
�� 
� ����
�
��	 4( ����� �� 
�� �J��
����

Di =
∑

j

εij · Ej +
∑
j,k

χijk · Ej · Ek + O(E3)  �*-#

Bi = μi · Hi  �*.#

��
� 
�� ������
	�� 
����	 εij 1 
�� �����9
�4���
( 
����	 χijk1 ��� 
�� �����
��
9�	���4���
( μi* &�	 ���
 ������
	�� ��
�	����1 
���� �J��
���� ��� 4� ���9��E��
4( ��9��(��� 
�� ��������� �
����	� �����9
����H

• μ ≈ 1 U_ B = H

• ����� E��� �
	���
��H U_ Di =
∑

j εij · Ej

• ���
	�9�� ������
	�� 
����	 U_ D(r, ω) = ε(r, ω) · E(r, ω)

• ε ����9�����
 �� �	�J����( U_ ε(r, ω) = ε(r)

• ���2���� ������
	�� ����� U_ ε(r) = |ε(r)|
�99�(��� 
���� �����9
���� 
� 
�� �J�* �*!2�*. ��� �������
��� 
�� 
���

��9������� �� 
�� E���� 4( H(r, t) = H(r)e−iωt ��� E(r, t) = E(r)e−iωt (�����H

∇ ·H = 0 ∇× H =
iω

c
· ε · E

∇ ·E = 0 ∇× E = − iω

c
· B

 �*"#
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�99����B �* 5���� $���	��1 4��� ��9�1 ��� $�������� ����	�
��

���	� H = H(r) ��� E = E(r)* �B9	������ E(r) �	�� 
�� E	�
 ��	� �J��
���
��� ����	
��� �
 ��
� 
�� ������ ��	� �J��
��� (�����

∇×
(

1
ε
∇× H

)
= ΘH =

(ω

c

)2
· H(r)  �*,#

���	� Θ = ∇× (1
ε∇×) �� � �����	 ��� ?�	��
��� �9�	�
�	*

�������� ��� � 9�	����� ������
��� �� 
�� ������
	�� ����
��
 �� B2��	��
���1
�*�* ε(r + R) = ε(r)1 ���	� R = l · x̂ ��� l ∈ N* 8� �� ��� ��
	����� �

	�����
�	��� �9�	�
�	 TR1

TR · H(r) = H(r + R)  �*R#

��� ������ 
��
 
�� ���� ��� � ����
����� ��	� eikxx1 �� ��


TR · eikxx = eikx(x+la) =
(
eikxla

)
eikxx.  �*0#

eikxx �� 
��	���	� �� ��������
�	 �� 
�� 
	�����
�	��� �9�	�
�	 TR ��
� 
��
���������� eikxla* /����

ei(kx+2πm/a)x = e2πi·m·leikxla = eikxla,  �*7#

��� ����� ��
� ���� ���
�	 kx + 2π/a ·m ���� 
�� ���� ���������� �� eikxla

����	 
�� �(���
	( �9�	�
��� TR* $�� ���
�	 b̂ = 2π/a · x̂ �� 
�	��� ���
�����

���������� ������� ������ ��� 
�� 	����� −π/a < kx < π/a .�����
�� ����*

�� ��( �����	 ���4���
��� �� 
���� ���������
���� 9	������ ���
��	 ���������2

��� ��
� 
�� ���� ����������1 �� ��� �	�
� Hkx,kρ �� 
�� ��	�

Hkx,kρ = eikρρ
∑
m

ckx,m(ρ) · ei(kx+mb)x

= eikxxeikρρ
∑
m

ckx,m(ρ) · eimbx

= eikxxeikρρ · ukx(x, ρ),

 �*+#

��
� 
�� �B9������ ���<����
 ckx,m(ρ) ��� 
�� ���� ������
��� ukx(x, ρ)
����� ��1 4( ����
	��
���1 � 9�	����� ����
��� �� B* � ����	�
� 9�	������
( ��
x2��	��
��� ����� 
��	���	� 
� �� x2��9������� �� H ��� 
�� ����
��� �� �J* �*,
�� � 9�	����� ����
��� �� 
�� ��	�

H(...x...) ∝ eikxx · ukx(x, ...).  �*!3#

)�� 5�������� �� �
� ���( 	��

�� ��9�	
��
 9	�9�	
( �� 9��
���� �	(�
��� �� 
�� 9����4�� 9	������ �� � ��9
�� �
� 4��� �
	��
�	�1 �*�* � �	�J����( 	���� �� ����� �� ����� �	� �������

� 
	���� 
�	���� 
�� 9��
���� �	(�
��* $��� 4��� ��9 �� � �����J����� �� 
��
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�*-* &�	��
��� �� 
�� 4��� ��9

9�	����� ��	��
��� �� εH �������� � �����	 9���	���� ����
	������
�� ���� 
��

9	�9���
�� 
�	���� 
�� ��
�	��� �� x2��	��
���1 �*�* k = kẑ1 
�� ���� �J��
���
�J* �*, 
	�����	�� ��
�

1
ε(x)

· ∂2H(x)
∂x2

=
ω2

c2
· H(x).  �*!!#

8� ε(x) �� � 9�	����� ����
���1 �*�* ε(x + a) = ε(x)1 
��� 
�� ����	�� ε−1(x) ��
���� 9�	�����* $��� ����� �
 9����4�� 
� �B9��� ε−1(x) ��
� � &��	��	 ��	���H

ε−1(x) =
∞∑

m=−∞
κm · ei 2πm

a
x,  �*!-#

��
� 
�� &��	��	 ���<����
� κm1

κm =
1
2a

∫ a

−a
dx · ε−1(x) · e−i 2πm

a
x.  �*!.#

�� ε1 
�� ���������
���� �� 
�� ����
	������
�� ���� ��� ���� 4� �B9�����
��
� � &��	��	 ��	���* 8� 
�� !2����������� ����1 
��� ��		��9���� 
�

H(x) = Hk(x) =
∞∑

m=−∞
Hm · ei(k+ 2πm

a
)x.  �*!"#

8� �
 �� ������� 
��
 ���( 
�� ���9����
� ��
� |m| ≤ 1 �	� �������
 �� 
��
�B9������ �� ε−1(x)1 �� ��
 �	�� �J* �*!-

ε−1(x) = κ0 + κ1 · ei 2π
a

x + κ−1 · e−i 2π
a

x  �*!,#

5( ����	
��� �J�* �*!" ��� �*!, ��
� 
�� ���� �J��
��� �J* �*!!1 � 	���	����
�B9	������ �� ��	����H

κ1 ·
[
k +

2π(m − 1)
a

]2

· Hm−1 + κ−1 ·
[
k +

2π(m + 1)
a

]2

· Hm+1 ≈

≈
[

ω2

c2
− κ0

(
k +

2mπ

a

)2
]
· Hm

 �*!R#

%�
� 
�� ����
	���
� 
��
 k �� �99	�B���
��( �J��� 
� 
�� ���� �� 
�� 5	�������
����1

|k| ≈ π

a
,  �*!0#

��� 
��
 κ0 ������
�� ε−1(x)1

ω2 = ω2
k =

c2k2

ε(x)
≈ κ0c

2k2,  �*!7#

�� E�� 
��
 ���( 
�� 
�� ���9����
� �� Hm ��
� m = 0 ��� m = −1 �	�
�������
 �� �J* �*!R* $��� (����� 
�� ��������� �(�
�� �� �J��
����H

(
ω2

k − κ0c
2k2
) · H0 − κ1

[
k − 2π

a

]2

· H−1 = 0

−κ−1c
2k2 · H0 +

[
ω2

k − κ0c
2 ·
(

k − 2π
a

)2
]
· H−1 = 0

 �*!+#

!R.



�99����B �* 5���� $���	��1 4��� ��9�1 ��� $�������� ����	�
��

� ���2
	����� ����
��� �� 
��� �(�
�� �� K��
 9����4�� ���� 
�� ��
�	�����

�� 
�� ���<����
� ��������I 
��� ����� 
�

ω± ≈ πc

a
·
√

κ0 ± |κ1| ± ac

π |κ1| ·
(

κ2
0 −

∣∣κ2
1

∣∣
2

)
·
(
k − π

a

)2
 �*-3#

$�����
(
k − π

a

)	 π
a ��
� ������
1 �
 ������� 
��
 ����	 
�� ����
	���
� �����

�4���1 �� ���� �B��
� �� 
�� ��
�	���

πc

a
·
√

κ0 − |κ1| < ωk <
πc

a
·
√

κ0 + |κ1|  �*-!#

�J* �*-! ������
�� 
��
 
�� 9	������ �� � 9�	��������( ��	(��� ε �9��� � 4���
��9 �� ����� �� ����� ��� �B��
* $��� ��� ��9�	
��
 ��9����
����H �� �� 9�	��(
	��� ���� ���
�	 �B��
� ��	 ��( ���� �� 
��
 �	�J����(1 ��( ����
	������
�� ����
��
� � �	�J����( ��
��� 
�� 9��
���� 4��� ��9 
��
 �
	���� 
�� ��	���� �� 
��
�	(�
�� �	�� ��
���� �����
 9	�9���
� �� 
�� �	(�
��* 8��
���1 
�� ���� ���
�	 ��
���9��B ��� 
�� ��9��
��� �� 
�� ���� ����(� �B9����
����( ��
� 
�� ��
�	���*

)�� �
� ��6
�(��7 ��	����
�

$�� $�������� ����	�
�� �������
�� �A29���� 
	���������� ��� 	�>��
��� �� �
'�@ ���4 4( ������� 
�� )�B���� �J��
���� 4( � ��
 �� 9���� ����� ��� ���2
���
��� 
�� �������� ��� ��
����� E���� 4( � ���

�	��� ��
	�B* $�� ���������
��
�
���� �	� 
���� �	�� V!W*

$�� ����	�
�� �
�	
� �	�� 
�� )�B���� �J��
��� 	������� ��	 
�� ����
	�� E���H

−ΔE + ∇ · (∇ ·E) =
ω2

c2
 �*--#

������� � -� 9�	����� ���4 ��������� 
� &��* R*7 ���9��� ��
� �� �������

9��
�� �� �	�J����( ω ��� ���� ���
�	 k = (kx, ky , kz)1

kx =
ω

c
���(θ)���(φ),

ky =
ω

c
���(θ)���(φ),

kz =
ω

c
���(θ),

 �*-.#

��� 
� 
�� 9�	����� ������
��� �� 
�� ���41 
�� ���� �9��
� ��
� ����	��
��	������ ��
� ���� ���
�	�

k±
G,i = (kx,G, ky,G,±kz,G,i)  �*-"#

����	 	�>��
��� ��
� 
�� ��4�
	�
�  i = s# �	 
	���������� ��
� 
�� ��(�	 ��
�	����  i = g#* $�� ���9����
� �� k±G,i �	� ����� 4(

kx,G = kx + Gx,

ky,G = ky + Gy,

kz,G,i =

√
ω2εi

c2
− (kx + Gx)2 − (ky + Gy)2,

 �*-,#

!R"
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��

Gx ��� Gy �	� 
�� x ��� y ���9����
� �� 
�� 	���9	���� ��

��� ���
�	 G
����� �� ����� 4(

G =
2π
a

(n, q, 0) , n, q = 0,±1,±2, ..., N  �*-R#

��	 � 	��
������	 '�@ ��

��� ��� 4(

G =
2π
a

(
n,

2n − q√
3

, 0
)

 �*-0#

��	 � 
	�������	 '�@ ��

���*

$�� ����
��� �� �J* �*-- ��� 
��� 4� &��	��	 �����9���� ��
� � ��� �� 9����
����� �� 
�� 
(9�

E(r, t) = EG · ei(kx,Gx+ky,Gy) · ei(Kz−ωt)

D(r, t) = DG · ei(kx,Gx+ky,Gy) · ei(Kz−ωt)

H(r, t) = HG · ei(kx,Gx+ky,Gy) · ei(Kz−ωt)

 �*-7#

���	� K �	� 
��  
� 4� ��
�	�����# ����������� �� 
�� z 9	�K��
��� �� 
��
���� ���4�	 k �� 
�� ���� ��� 
�� DG �	� ����� 4(

DG =
∑
G′

εG,G′EG′  �*-+#

���	� εG,G′ �� 
�� &��	��	 
	�����	� �� ε(r)H

εG,G′ =
1
S

∫
ε(r)ei(G′−G)rdxdy  �*.3#

S ����
�� 
�� �	�� �� 
�� ���
 ����* &�	 4�

�	 �����	�����1 �
 �� ��
�� ������

� �B9��� 
�� ����	�� �� 
�� ������
	�� ����
��
 ε−1(r) ���
��� �� ε(r)1 �� �����
�� �J* �*!-*

����� 
���� ��E��
����1 
�� ����
��� �� �J* �*-- ��� 4� �	�

�� �� ��	� �� ��
�����9	�4���

N−1ME‖ = E‖K 2  �*.!#

���	� M ��� N �	� 2N × 2N 2����������� ��
	���� ����� 4(

M =
(

M11 M12

M21 M22

)
, N =

(
N11 N12

N21 N22

)
,  �*.-#

��� ���9���� �� N × N ��
	����

M11 =
ω2

c2
εG,G′ − (ky + Gy)2δG,G′ ,

M22 =
ω2

c2
εG,G′ − (kx + Gx)2δG,G′ ,

M12 = M21 = (kx + Gx)(ky + Gy)δG,G′ ,

N11 = δG,G′ − (kx + Gx)Z−1
G,G′(kx + G′

x),

N22 = δG,G′ − (ky + Gy)Z−1
G,G′(ky + G′

y),

N12 = NT
21 = −(kx + Gx)Z−1

G,G′(ky + G′
y),

 �*..#

!R,



�99����B �* 5���� $���	��1 4��� ��9�1 ��� $�������� ����	�
��

���	�

ZG,G′ =
[
(kx + Gx)2 + (ky + Gy)2

]
δG,G′ − ω2

c2
εG,G′  �*."#

K �� � 2N × 2N 2����������� �������� ��
	�B 
��
 ���
���� 
�� ��������2
��� K1,K2, ...K2N �� N−1M ��� E‖ �� � 2N × 2N 2����������� ��
	�B �����
������� �	� 
�� ��		��9������ 2N 2����������� ��������
�	�*

8� 
�� ������
�� �
	��
�	� ������
� �� � ���4���
��� �� ����	�� ���4�  �� �� ��	
����#1 �
 �� �������	( 
� ������
 
�� ��9��
���� �� 
�� 9�	
��� ����� �� ����
9���� ��
� ���� �
��	* $��� �� ���� 4( ��E���� 4N 2����������� ��9��
��� ���2

�	�

−→
A (z) ���

−→
B (z) 
��
 ���
��� 
�� ��9��
���� �� 
�� 9���� ����� ����� ��
�


�� �
	��
�	� ��� ������� 
�� �
	��
�	� �� ���� ����1

−→
A (z) =

(
A+

s (z)
A−

g (z)

)
,

−→
B (z) =

(
B+

g (z)
B−

s (z)

)
,  �*.,#

A+
s (z) ��� B−

s (z) ��		��9��� 
� 
�� ����� ������ �	�� ��� 4���� 	�>��
��
4��� ��
� 
�� ��4�
	�
� ��� B+

g (z) ��� A−
g (z) ��		��9��� 
� 
�� 
	�����

��

����� ��� 
�� ����� �������
 �	�� 
�� �	���� ����*

����
�
��� �� 
 � ���	���� ��
 ��

8� 
�� �	������ 9�4����
��� �� 
�� ��
��� V!W1 
�� �������� ��� ��
����� E����
�	� ������
�� 4( � 4N × 4N 2����������� ���������� 
����� Ss,g 1

−→
B = Ss,g

−→
A,  �*.R#

����� �� �������
�� �
�	�
����( 4( �
�	
��� �	�� 
�� ��(�	 �	�� ����� 
��
9��
�� �� �������
1 ����� ��		��9���� 
� 
�� ��4�
	�
� �� ��	 �(�
��* ?�����	1
�� �� 9��
��� �		��� �
 
�� '�@ ���4 �	�� 
�� �99���
� ����  �*�* 
�� �	����#1
A−

g (z) ��� 4� ��
 
� 0I 
��� ����� �
 9����4�� 
� �99�( ����	�� ���9��E��
���� 
�

�� �	������ ���

�	��� ��
	�B ��	������*

�������� � �(�
�� �� ����� �� &��* �*! ��
� A0 
�� ��9��
��� ���
�	 �� 
�� ��2
�����
 9���� ����� ��� A3 
�� ��9��
��� ���
�	 �� 
�� 
	�����

�� 9���� �����*
��
 �� ��E�� �� ��������� 
����� TP,G ����� ������
� 
�� ��9��
���� �� 
��
���
 ��� 	���
 ���� �� 
�� ��
�	���� P − GH(

A2

B2

)
= TP,G

(
A3

0

)
 �*.0#

TP,G �� �������
�� �	�� 
�� 
������� 
������� F �� ���4 P ��� ���4 G 4(

TP,G =
(

TPG,11 TPG,12

TPG,21 TPG,22

)
= F−1

P FG  �*.7#

!RR
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��

layer 1 layer 2 layer 3

A A A A

B BB

0 1 2 3

0 1 2

������ ���	 %)������� 2���	�� �� ��� �����
�����

���� ��
�	��� ��
	�B F �� ����� 4(

F =
(

E‖ E‖
c
ωCE‖K − c

ωCE‖K

)
 �*.+#

��� 
�� 2N × 2N ��
	���� C �	� ��E��� 4(

C =
( −N21 −N22

N11 N12

)
.  �*"3#

�� ���( 
�� ��
����� 9���� ����� �� ��(�	 G ���� ���2��	� ��9��
��� ���
�	�1
�J* �*.0 ��� 4� ���9��E�� 
�

A2 = TPG,11 ·A3

B2 = TPG,21 ·A3
 �*"!#

����� ��� 4� 	���	����
�� 
�

A3 = TPG,11
−1 · A2 = RPG,11 ·A2

B2 = TPG,21 TPG,11
−1 ·A2 = RPG,21 · A2

 �*"-#

���	� RPG,11 ��� RPG,21 �	� 
�� ���

�	��� ��42��
	����* $�� ��9��
����
A2 ��� B2 �	� ������
�� 
� 
�� ��9��
���� A1 ��� B1 4( � �������� 
�����

TL ����� �� ����� ��
TL = e−iKL  �*".#

���	� L ����
�� 
�� 
�������� �� ���4 P * $�� ��9��
���� A1 ��� B1 �	�
����� 4(

A1 = TL · A2

B1 = TL
−1 · B2

 �*""#

���
 (�����

A3 = RPG,11 · TL
−1 ·A1 = RPP ,11 · A1

B1 = TL · RPG,21 · TL
−1 · A1 = RPP ,21 ·A1

 �*",#

!R0



�99����B �* 5���� $���	��1 4��� ��9�1 ��� $�������� ����	�
��

&�����(1 
�� ��
�	���� ��
	�B TS,P �� 
�� ��
�	���� S − P �� �������
�� ����2
������( 
� �J* �*.7 ��� ���� 
� ������
 
�� ��9��
���� �� 4�
� ����� �� 
��
��
�	���� ��
� ���� �
��	* $��� (����� 
�� 
�
�� ���

�	��� ��42��
	���� R11 ���
R21 �� 
�� �(�
��H

A3 = RPP ,11 · D · A0 = R11 · A0

B0 = E · D ·A0 = R21 ·A0
 �*"R#

$�� ��
	���� D ��� E �	� ����� 4(

D = (TSP ,11 + TSP ,12 · RPP ,21 )−1

E = TSP ,21 + TSP ,22 · RPP ,21

 �*"0#

/�4��J���
�(1 	�>��
���1 �4��	9
���1 ��� 
	���������� ���<����
� �	� �����2
��
�� ����	���� 
� 
�� ��	����� ����� �� V!W*

!R7
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